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   ECOSYSTEM AND ENERGY FLOW TEST REVIEW



1)  The beach is the seagull’s __________habitat____________________________________.

2)  Organisms whose offspring can breed are part of the same ______species____________________.

3)  Frogs, fish, water striders, and reeds all live in the same pond and interact with one another.  They are a part of the same _______community____________________________.

4)  All of the redwing blackbirds that live in Belle Marsh make up the marsh’s redwing blackbird ________population_____________________________.

5)  A bird gathers twigs and grasses to make its nest.  The bird eats insects and is eaten by cats.  These actions describe the bird’s _________niche_________________________.
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6)  Vultures and hyenas feeding on the same dead animal is an example of __competition__________.

7)  Two organisms of different species living together in a close relationship is called __symbiosis_____.

8)  A tick sucking a dog’s blood is an example of ____parasitism___________________________.

9)  Fish hiding within a jellyfish’s tentacles for protection is an example of ____commensalism_______.

10)  Lions hunting together is an example of ____cooperation____________________________.

11)  Aphids make a sweet substance that ants eat.  The ants protect the aphids.  This is an example of ______mutualism__________________________.

12)_
D_______ Certain types of worms live in the mud at the bottom of lakes.  What does the mud represent for the worm?

a) an ecosystem

b) a niche


c) a community
d) a habitat

13)___A_____ Creosote bushes release chemicals into the soil.  These chemicals prevent other plants from putting out roots.  This is an example of


a) competition


b) cooperation


c) coexistence
14)___B_____ The total number of Canadian geese in a city is the city’s Canadian goose


a) community


b) population


c) habitat

15)___B___ A squirrel, an owl, and a northern oriole live in the same oak tree.  They belong to the same


a) species


b) community


c) population

16)___B_____ Earthworms tunnel through the ground, eating, loosening, and enriching the soil.  These worms are eaten by robins.  This is a description of the worm’s


a) habitat


b) niche


c) occupation

17)_____A_____ Two male deer lock horns as they battle over territory.  This is an example of


a) competition


b) cooperation


c) succession
18)____C____ An example of symbiosis is


a) a hawk hunting a mouse



b) a school of fish swimming together


c) a butterfly sipping nectar from a flower

d) wolves fighting over territory

Are the following example mutualism (M), commensalism(C), or parasitism (P)?   (circle one)
19)    M     C     P
A bird building a nest in a tree.

20)    M     C     P
The cleaner fish feeds on parasites in the shark’s mouth and gills.

21)    M     C     P
A leech lives in the water and sucks blood from fish that live in the water.

22)    M     C     P
A dodder vine wraps itself around a plant and takes nutrients and water from it.

23)    M     C     P
Nitrogen-fixing bacteria get their nourishment from the roots of certain plants, 

providing the plants with nitrogen in return.
24)___A_____ An example of a predator-prey relationship is


a) a hawk hunting a mouse



b) a school of fish swimming together


c) a butterfly sipping nectar from a flower

d) wolves fighting over territory
25)___D____ The source of energy for almost all life on Earth is


a) fungi

b) animals

c) water

d) sunlight

26)____C___  An example of a biotic factor in a forest ecosystem is


a) waterfall

b) cliff


c) a tree

d) a rock

27)___A____  Which is NOT an example of an abiotic factor?


a) trees

b) temperature
c) light


d) water

28)____C___  An example of a producer is a


a) caterpillar

b) bird


c) fern


d) earthworms

29)___C____In an energy pyramid, the lowest level has

a) less energy than the top level


b) less energy than the second level

c) more energy than the top level


d) the same amount of energy as the second level
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Use the food web to the right to answer questions 30-42:
30) 
What object is providing the energy to the producers? ____SUNLIGHT________________

31-32)
  Identify the 2 producers in this food web: ___BLADDERWORT___     _BUTTERFLY ORCHID__

33)-34)  Identify 2 primary consumers in this food web: ___MOSQUITO__  _EASTERN MUD TURTLE__

35)-36) Identify 2 secondary consumers in this food web: SOUTHERN LEOPARD FROG;GRASS CARP
37) Identify 1 tertiary consumer in this food web:  AMERICAN ALLIGATOR
38) Name 1 herbivore in this food web: EASTERN MUD TURTLE
39) Name 1 carnivore in this food web: GREAT BLUE HERON
40) Name 1 omnivore in this food web: GRASS CARP
41)  Name 1 heterotroph in this food web: ANY ANIMAL (Heterotrophs are “consumers”)
42) Name 1 autotroph in this food web: ANY PLANT (Autotrophs are “make their own energy”, “self-feeders” or “producers”)
43)____C______ An energy pyramid is used to show ______________.


a) the layout of organisms in any order seen fit
    b) the amount of energy in the universe


c) the amount of energy at each trophic level.
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44)___B_____If birds eat insects that feed on corn, which pyramid letter would bird occupy?

a) A

b) B

c) C

d) D

45)__D______ As one progresses from level D to level C in this pyramid, what happens to the amount of stored energy?

a) increases by 90%
     b) decreases by 10%

b) remains the same
     d) decreases by 90%
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46) __B______ Look at the following energy pyramid. If the producers have 7000 kcal of energy, how much energy will be available for the Sheephead fish?

a) 7 kcal


b) 70 kcal

c) 700 kcal


d) 7000 kcal

47)___D_____Giant Sea Bass do not get as much energy from eating the same amount of food as sea urchin. Which statement best describes the reason?

a) sea urchins move around less than sea bass

b) sea urchins live on less energy than bass

c) sea urchins are bigger than sea bass

d) sea urchins use much of their energy for life processes

48)___D____ The process shown in this diagram is

a) waste elimination

b) cellular respiration

c) a food chain
d) photosynthesis
49)  Put the following ecological terms in order from smallest to largest – population, community, organism, ecosystem, biome.
ORGANISM, POPULATION, COMMUNITY, ECOSYSTEM, BIOME
50)__B___ In polar regions, the Arctic fox hunts down lemmings for food. What would happen to the Arctic foxes in an area if the local lemming population declines rapidly due to an outbreak of disease?

a) it will hibernate for longer durations

b) it's population will decrease

c) it will have a greater reproductive rate

d) it's population will increase
51) _D____In a forest the population of white-tailed deer has increased drastically due to the absence of natural predators. Which of these can become a limiting factor for the further growth of its population?

a) inability to find a mate



b) migration to another forest

c) increase in vegetation



d) shortage of food

52)__C___Which of the following best demonstrates a density-dependent limiting factor?

a) global climate change



b) a tornado



c) the number of nesting sites available

d) a flood
53)_C____Which of the following best demonstrates a density-independent limiting factor?

a) number of predators present


b) spread of lethal disease

c) an early freeze




d) the amount of food available
54)__A___Nitrogen is essential to life because
a) It is needed for building the proteins needed for cells.  
b) It is the molecule that builds all the molecules of life.

c) It is needed for making carbohydrates and lipids.
d) It is the most common element.
55) __B____Plants get nitrogen from
a) Breathing it in through their leaves from the atmosphere
 b) Absorbing it through roots from the ground

c)  Basic photosynthesis





d) Cellular Respiration
56)__A____Nitrogen-fixing bacteria are important because

a) They turn nitrogen from the air into nitrogen compounds in the soil

b) They are essential for plants being able to carry out photosynthesis.

c) They break up dead plants and animals in the soil.

d) They release excess nitrogen from the soil into the atmosphere.

57)  Describe the role of decomposers in an ecosystem.  
When a plant or animal dies, it leaves behind nutrients and energy in the organic material that comprised its body. Decomposers complete decomposition by breaking down the remaining organic matter of the dead animals. Decomposers eventually convert all organic matter into carbon dioxide (which they respire) and nutrients.  This process resupplies nutrients to the soil, in turn allowing more plants to grow and thrive. By breaking down dead material, they provide the nutrients that other organisms need to survive. 

58)  Look at the picture of the elephant to the right.  This is displaying the carbon/oxygen cycle at work.  Explain what is happening at each step.  Make sure to use the words: oxygen, carbon dioxide, photosynthesis, respiration, air, producers, animals
1:  plants/producers take in CARBON DIOXIDE and SOLAR ENERGY in a process called PHOTOSYNTHESIS 
2: the products of PHOTOSYNTESIS create OXYGEN and GLUCOSE, which are released by plants 
3:  the elephant takes in OXYGEN from the AIR to breathe and when it eats the plants it gets ENERGY from the GLUCOSE
4:  when the elephant breathes out it releases CARBON DIOXIDE in a process called RESPIRATION.  This starts the cycle back over.  
59)  Explain why energy and matter move through an ecosystem differently.
Matter CYCLES through an ecosystem.  Matter in an ecosystem may change form, but it never leaves the ecosystem.  lmost all the matter on the planet today has been here since Earth first formed. That means all the carbon, hydrogen, oxygen, nitrogen, and other elements that make up the molecules of living things have been recycled over and over throughout time. BIOLOGICAL SYSTEMS DO NOT USE UP MATTER; THEY ONLY CHANGE IT FROM ONE FORM TO ANOTHER.
Energy FLOWS THROUGH an ecosystem.  The energy within an ecosystem gets used up as it flows from organism to organism.  Because energy is continuously used by the activities of living things, it must be continuously replaced in the ecosystem (i.e. it takes energy to eat prey, hunt, walk).  As organisms use energy for their life processes, most of the available energy gets LOST to the environment in the form of HEAT.  Ecosystems require energy to be continually replenished to function.  

60)  Explain how the snowshoe hare and lynx populations are limiting factors for each other.  Give specific #'s/examples from the graph to explain your answer.

When the snowshoe hare population rises (for example in 1864, there was around 155 hares), slowly then after you will see a rise in the lynx population (for example in 1866, there was 70 lynxes).  

The lynx (predator) is a density-dependent limiting factor on the snowshoe hare (prey).  When the density is large and dense, predation occurs more strongly and controls the size of the hare population.   In reverse, if the prey population decreases, so does the predator population.  The predator has less food to feed upon.  Predators-prey are necessary to keep populations in check and in manageable numbers. 
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